CAB—STD—092.DWG 03/08/09

CAD FILE —

720 REF

N—

TO INSTALL TRANSITION PANELS

THE TRANSITION PANELS MUST BE PLACED BEHIND THE

FENDER PANELS OF THE TRACC SYSTEM TO INSURE

PROPER FUNCTION OF SYSTEM.

TRAFFIC

=
|
— S —
S S
I o
® — n
NeJ <
- -
° 2 bt ——— ' ‘
s
] O | | et | |
|
PiLAN TRAFFIC
3990
REMOVE M16 50 SPLICE BOLT 500 475 475 475 950 ms e TRANSHION FAL
X
4m NET LAYING LENGTH.
SUPPLIED WITH TRACC UNIT & INSTALL A ‘3‘ bort No. 17796
M16 x 65 CONNECTING BOLT v v
(2 POSITIONS THIS SIDE & |
— -
2 POSITIONS OPPOSITE SIDE) \f\ T ° ° ° B - =
{0} + i) ﬁ» ﬂp ﬁ” (ﬂ» °
T o
= | o |
r\ — % — — 1o | o
m ° ° o
lg‘\ T 1 ?
I # # * t o
. . - . ] - - o bot——— 0 1.
h T — \ 1
w — EXISTING OR NEW
\_, GUARDRAIL
100 LOWER TRANSITION RAIL
" ) FLEVATILN 4m NET LAYING LENGTH.
Part No. C1780G
=/ BACKUP POST TRACC BLOCKOUT PIECE VARIES  VARIES BLOCKOUT PIECE
Part No. C1790G /BACKUP (LEFT HAND) \K_" “V(R\@HT HAND) 230 230
(2 POSITIONS) FRAME (6 POSITIONS) > — ” (6 POSITIONS) ‘ _ ‘
- \ " )
M20 x 75 LONG R ] M16x30 HEX HD - -
HEX HD BOLT M16x50 MUSHROOM HD WITH M16 NUT T
WITH FLAT WASHER WITH M16 OVERSIZE NUT 15} Part No. C1525 o
o 2
EITHER SIDE & NUT Part No. C1505 & C1520 - R (44 POSITIONS) " 8
Part No. C1593 & C1612 (24 POSITIONS) ’LE
N SUPPLIED BY I.C.P. Al
'Q S~ 1] (4 POSITIONS) v z
P Tl A |
: ! Hy
TRANSITION POST — | — A
@»‘ — 1800mm LONG
-
Part No. C1785G L
VARIES  VARIES
SECTION A-A SECTION D-D (6 POSITIONS) SECTION C-C
SECTION B-B
PROJECT DATE  03,/08,/09 | INGAL CIVIL PRODUCTS
EAL GV o TRACC TRANSITION TO DRATN 12 REFERENCE No.
L 5 INGAL Civil Products DESTNED| o
@ © 57—-65 Airds Road, Minto, NSW, 2566 Australia FLEXBEAM ASSEM BLY
2 Telephone 61-2-8827 3333, Facsimile 61—2-9827 3300, Internet www.ingalcivil.com.au — CHECKED T.C. SRAWING o
Q Industrial Gal i C 1 Pty Ltd ACN 000 545 415 (2005 .
& This diuv:"muqs'\:G(heﬂs‘fgj‘ezs{sof COPRIGHT. No part of it may be used(, reprlduced CENERAL ARRANGEMENT MATERIALAS SHOWN
0 | INITIAL ISSUE \.S |03/08/09 TAID UVSNI or copied by any means or in any form without the prior permission of the owner. FINISH  AS SHOWN CAB*STD*OQZ
Rev, Description Chkd| Date SCALE  N.T.S REV.0




